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B hnTY 894 u g| B HATY 5979 u g| B HATY 5087 u g| B HATY 4008 v g| B HATY 2697 u g| B HATY 2407 1 g| B HATY 3397 g
E'43YB1 0.55mg|E43VB1 0.62mg|E43VB1 1.26mg|E43YB1 1.54mg|E43YB1 0.86mg|E43VB1 0.45mg|E43YB1 0.58mg
E'43vB2 0.94mg|E43YB2 0.89mg|E43YB2 0.74mg|E43YB2 1.03mg|E'43YB2 0.87mg|E43YB2 0.91mg|E43YB2 0.74mg
E'435C 60mg|E43VC 86mg|E 4300 67mg|E 4300 56mg|E43VC 57mg|E 430 91mg|E43YC 28mg
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B hATy 5160 1 g| B HATY 5142 1 g| B HATY 2160 1 g| B HATY 1506 1 g| B HATY 2585 1 g| B HATY 3367 1 g| B HATY 242511 g
E'43YB1 0.49mg|E43VB1 1.16mg|E43YB1 1.17mg|E43YB1 0.91mg|E43VB1 0.44mg|E43VB1 0.57mg|E43YB1 1.03mg
E'43vB2 0.92mg|E43YB2 0.97mg|E43YB2 1.06mg|E'43YB2 0.69mg|E43YB2 0.8mg|E'43YB2 0.79mg|E43YB2 0.85mg
E'435C 50mg|E43VC 97mg|E 4300 43mg|E 4300 66mg|E 4300 3lmg|E43VC 68mg|E43VC 141mg




3/5

BEBA)
SF104506 B 15HK)|[ £F1045E06 16 HCK)| £#1045FE06 B17H(E)| £F1045£06 H18H ()| £F004506 H 198 (H)| $#104506 A 20H(A)| £#104506 A21 H(N)
E RSN >k (65) % (65) % (65) % (65) % (65) % (65)
Xy XYL S YT KIRA R BHAHNT T H BN IIONAEDOERL |BEER) ZEMZ (R B
AV AA—T(NE) Mk BRI (20 %) M (o FF) LRnE - (U R) B (EA) BRne i (B3
e=h e=h 2=h ==h ==h ==h e=h
ST (o E) S00F (B30 S00T - HE S00TF (L%F) S0 T (3730 S00T (E1F)
E R e N MR E) > (65) % (65) % (65) % (65) % (65)
BeXpH& A= (T HR) KDy lsE IR OREREE HhEE (SAF) FIAFIN IN—T INER
VAASN T —h 2N T 4 —FRVZ AT SR MEDHR) |[fiFEabt (KRIEBAUM T &Y =2y~ A
BRI (T 77 A) KARE NN, BY— Y5 (Moo 7 Fil B8
T— wRIE - (R B RTMPTH BN GTASRA)  [7—2v=7%)-)
7= H (B 9E) 7 — Y-
15EE [HB5°D BXD BXD BXD B B B
4 |k (65) % (65) % (65) % (65) % (65) % (65) % (65)
BALE (FRf) filg DI BEX RANVEX HBALR T OAZERE | T EFEEE D L= )L T=HDHRANPEX
LOUEFEXOTZY |fHAabtd (KIRBAYBIRL (FUL U/ ELD) I REoLE iz (B2 (PI4H) (BIPEEY eacn EAS (FLAZA)
DYoL oA (VT & FHZ DT BT I DOV HA: HEDW) I DOV
(ONOFS) A LI BR MY
IALE - 1553kcal |[TRLEF = 152 1kcal[T3LEF = 1557kcal [T LEF = 1535kcal [T LE = 1558kcal [T LE = 1567kcal [TLE = 1589kcal
£80E 52.82|&EHE 58.92|&EHE h3g|EHE 54.7g|&EBE 52.1g|&EBE 55.4g|&EHE 50g
I 464mg Ay L 551mg Ay L 462mg Ay L 393mg Ay L 409mg Ay L 459mg Ay L 500mg
% 4.8mg |8k 9.2mg |8k 7.2mg |8k 6.1mg |8k 6.8mg |8k 7.4mg |8k 5.9mg
B HhaTy 6272 1 g| BHATY 2286 1 g| BHATY 4684 1 g| B HATY 4472 1 g| BHATY 5171 u g| BHATY 3014 u g| B HATY 5663 u g
E'43VB1 0.63mg|E43YB1 0.53mg|E43YB1 0.91mg|E43YB1 0.54mg|E43YB1 0.51mg|E43YB1 0.76mg|E43YB1 0.77mg
E'43B2 0.77mg|E43YB2 0.96mg|E43YB2 0.95mg|E43YB2 0.73mg|E43YB2 0.84mg|E43YB2 0.84mg|E43YB2 0.69mg
E'43vC 68mglE43YC 28mg|E43vC 66mglE43vC 80mg[E43YC 59mg|E4935C 206mg|E435C 64mg
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B HhoTy 2837 u g| B HATY 6613 u g| B HATY 6192 u g| B HATY 5762 u g| B HATY 1345 u g| BHATY 775 u g| BHATY 587 1 g
E'43VB1 0.47mg|E43VB1 0.55mg|E43YB1 0.56mg|E43VB1 0.76mg|E432VB1 0.44mg|E432YB1 0.67mg|E43YB1 0.79mg
E'43vB2 0.96mg|E430B2 0.82mg|E43VB2 0.9mg[E43VB2 1.09mg|E43VB2 0.83mg|E43VB2 0.88mg|E43YB2 0.87mg
E43vC 82mg|E435C 65mg|E435C 31mg|E43vC 41mg|E935C 31mg|E43VC 59mg|E43VC 81lmg
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